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कक्षा-12 (भौतिकी) जे.सी.ई.आर.टी., रााँची, झारखंड 

वस्तुनिष्ठ प्रश्न 

1)	 According to Huygens, the waves of light are-
(a)	 Mechanical, longitudinal. 
(b)	 Mechanical, transverse. 
(c)	 Electromagnetic. 
(d)	 Mechanical, spherical.

	 हाइगेन्स के अनुसार प्रकाश की तरंगेें होती ह-ै
(a)	 याांत्रिक ,अनुदैधर््य ।	 (b)	 याांत्रिक , अनुप्रस््थ ।
(c)	 विद्युतचंुबकीय ।	 (d)	 याांत्रिक , गोलीय |

Ans- 	 (a)
2)	 The concept of secondary wavelets was given by-

(a) 	 Fresnel 	 (b) 	 Newton 
(c) 	 Huygens 	 (d) 	 Maxwell

	द् वितीयक तरंगिकाओं की अवधारणा दी थी-
(a) 	 फ्रे नेल ने	 (b) 	 न्यूटन ने
(c) 	 हाइगेन्स ने	 (d) 	 मैक्सवेल ने।

Ans-	 (c )
3)	 Two sources of waves are said to be in coherent  if-

(a) 	 The wavefronts generated by both should be of 
the same shape.

(b)	 Both produce waves of the same wavelength.
(c)	 Both produce waves of the same velocity. 
(d)	 Both produce waves of the same wavelength 

having a constant phase difference. 
	 तरंगोों के दो स्रोत कला संबंध कह ेजाते हैैं , यदि-

(a) 	 दोनोों से उत्पन्न तरंगाग्र समान आकृति के हो। 
(b)	 दोनोों समान तरंगदैधर््य  की तरंगेें उत्पन्न करते  होों ।
(c)	 दोनोों समान वेग  की तरंगेें उत्पन्न करते होों ।
(d)	 दोनोों समान तरंगदैधर््य  की तरंगेें ,जिनमेें नियत कलाांतर 

रहता ह ै,उत्पन्न करते होों |
Ans- 	 (d)
4)	 In the phenomenon of interference of waves -

(a) 	 There is a loss of energy 
(b)	 There is a gain of energy
(c)	 There is no loss of energy, no gain of energy and 

only redistribution of energy. 
(d)	 Nothing can be said about energy.

	 तरंगोों के व्यतिकरण की घटना मेें -
(a)	 ऊर्जा का नुकसान होता ह ै
(b)	 ऊर्जा का लाभ होता है
(c)	 ऊर्जा का कोई नुकसान नहीीं ह ैऊर्जा का कोई लाभ नहीीं ह ै

और केव ल ऊर्जा का पुनर््ववितरण ह।ै 
(d)	 ऊर्जा के बारे मेें कुछ नहीीं कहा जा सकता ह।ै

Ans-	 (c)

CHAPTER - 10 WAVE OPTICS
तरंग-प्रकाशिकी

5)	 Two waves whose intensities are in the ratio 9:1 
produce interference. The ratio of maximum and 
minimum intensities will be- 
(a)	 10:8	 (b)	 9:1
(c)	 4:1	 (d)	 2:1

	 दो  तरंगेें जिनकी तीव्रताओं का अनुपात 9:1 ह,ै व्यतिकरण  
उत्पन्न करती ह।ैअधिकतम तथा न्यूनतम तीव्रताओं का 
अनुपात होगा-
(a)	 10:8	 (b)	 9:1
(c)	 4:1	 (d)	 2:1

Ans-	 (c)
6)	 If the wavelength of light is doubled in Young's 

experiment, then the width of the fringe-
(a)	 will remain the same 	 (b)	 will be doubled 
(c)	 will be halved 	 (d)	 will be quadrupled 

	 यंग के प्रयोग मेें यदि प्रकाश की तरंगदैधर््य  दोगुनी कर दी 
जाए तो , तो फ््रििं ज की चौड़ाई-
(a)	 वही रहगेी 	 (b)	 दोगुनी हो जाएगी 
(c)	 आधी  रह जाएगी 	 (d)	 चार गुनी हो जाएगी।

Ans-	 (b) 
7)	 Young's double slit experiment uses a monochromatic 

source of light. The shape of the interference fringes 
formed on the screen is-
(a)	 Parabola 	 (b)	 Straight line 
(c)	 Circle 	 (d)	 Hyperbola.

	 यंग का डबल स्लिट प्रयोग प्रकाश के एकवर्णी स्रोत का 
उपयोग करता ह।ै पर्दे पर बनने वाली व्यतिकरण फ्रिन््जोों की 
आकृति होती ह-ै
(a)	 परवलय 	 (b)	 सीधी रेखा 
(c)	 वतृ्त 	 (d)	 अतिपरवलय।

Ans-	 (d)
8)	 The size of the obstacle for the diffraction of light-

(a)	 be much larger than the wavelength of light.
(b)	 be much smaller than the wavelength of light.
(c)	 be of the order of wavelength of light.
(d)	 anything can happen.

	 प्रकाश के विवर््तन के लिए अवरोधक का आकार-
(a)	 प्रकाश की तरंगदैधर््य से बहुत बड़ा होना चाहिए।
(b)	 प्रकाश की तरंगदैधर््य से  बहुत छोटा होना चाहिए।
(c)	 प्रकाश की तरंगदैधर््य की कोटि का होना चाहिए।
(d)	 कुछ भी हो सकता ह।ै

Ans- 	 (c)
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9)	 The phenomenon by which the nature of light waves 
is transverse-
(a)	 Interference 	 (b)	 Diffraction 
(c)	 Polarization 	 (d)	 Refraction.

	 वह परिघटना जिससे प्रकाश तरंगोों की प्रकृति अनुप्रस््थ होती 
ह-ै
(a)	 व्यतिकरण  	 (b)	 विवर््तन 
(c)	 ध्रुवण 	 (d)	 अपवर््तन।

Ans-	 (c)
10)	 A ray of light is incident on a glass plate at an angle 

of 60°. If the reflected and refracted rays are mutually 
perpendicular, then the refractive index of the 
material is -
(a)	 √3/2	 (b)	 √3
(c)	 1/√3	 (d)	 1/2

	का ांच की एक पट्टिका पर प्रकाश किरण 60 डिग्री के कोण 
पर आपतित होती ह ै|  यदि परावर््ततित  तथा अपवर््ततित किरणेें 
परस्पर लंबवत होों ,तो पदार््थ का अपवर््तनाांक ह ै-
(a)	 √3/2	 (b)	 √3
(c)	 1/√3	 (d)	 1/2

Ans- 	 (b)

Subjective Questions/विषयनिष्ठ प्रश्न

1)	 What is fringe width?
	 फ््रििं ज चौड़़ाई क्या ह?ै
Ans-	 The distance between successive bright or dark fringes 

is called fringe width.
उत्तर -	 उत्तरोत्तर दीप्त या अदीप्त फ्रिजोों के बीच की दूरी को फ््रििंज 

चौड़़ाई कहते हैैं।
2)	 What type of source is used in Young's double slit 

experiment?
	 यंग के द्विझिरी प्रयोग मेें किस प्रकार के स्रोत का प्रयोग किया 

जाता ह ै?
Ans-	 In Young's double slit experiment, a coherent source is 

used.
उत्तर -	 यंग के डबल स्लिट प्रयोग मेें सुसंगत स्रोत का उपयोग किया 

जाता ह।ै
3)	 What is interference?
	 व्यतिकरण  क्या ह?ै
Ans- 	 Interference is the phenomenon in which two waves 

superimpose to form a resultant wave of lower, higher 
or equal amplitude.

उत्तर -	 व्यतिकरण व ह परिघटना ह ै जिसमेें दो तरंगेें अध्यारोपित 
होकर नि म्न, उच्च य ा समान आयाम की परिणामी तरंग 
बनाती हैैं।

4)	 How many types of light interference are there?
	 प्रकाश व्यतिकरण कितने प्रकार के होते हैैं ?
Ans-	 There are the following types of light interference:

•	 constructive interference
•	 destructive interference

उत्तर -	 निम्न प्रकार के प्रकाश व्यतिकरण हैैं:
•	 रचनात्मक  व्यतिकरण 
•	 विनाशी  व्यतिकरण 

5) 	 Explain the principle of superposition?
	 अध्यारोपण का सिद््धाांत समझाइए?
Ans- 	 The superposition principle states that "if two or more 

waves are traveling in a medium, the resultant wave 
function is the algebraic sum of the individual wave 
functions."

उत्तर -	 सुपरपोज़़िशन सि द््धाांत कहता ह ैकि  "यदि  दो य ा दो से 
अधिक तरंगेें एक माध्यम मेें यात्रा कर रही हैैं, तो परिणामी 
तरंग कार््य अलग-अलग तरंग कार्ययों का बीजगणितीय योग 
ह।ै"

6) 	 Can light waves pass through interference?
	 क्या प्रकाश तरंगेें व्यतिकरण से गुजर सकती हैैं?
Ans-	 Yes, interference of light waves can happen.
उत्तर -	 हााँ, प्रकाश तरंगोों का व्यतिकरण हो सकता ह।ै
7) 	 Write the difference between diffraction and 

interference.
	वि वर््तन और व्यतिकरण  के बीच अंतर लिखेें |
Ans-	 Difference between Diffraction and Interference
	 Interference

1.	 Interference may be defined as waves emerging 
from two different sources, producing different 
wavefronts.

2.	 The contrast between maxima and minima is very 
good.

3.	 The width of the fringes in interference is equal.
4.	 The sources are referred to as interference sources if 

the number of sources is as few as two sources
	 Diffraction

1.	 Diffraction, on the other hand, can be termed as 
secondary waves that emerge from the different 
parts of the same wave.

2.	 The contrast between maxima and minima is poor.
3.	 The width of the fringes is not equal in diffraction.
4.	 If the number of sources is more than two the sources 

are referred to as diffraction sources.
उत्तर -	 विवर््तन और व्यतिकरण  के बीच अंतर
	 व्यतिकरण 

1.	 व्यतिकरण को दो अलग-अलग स्रोतोों से नि कलने व ाली 
तरंगोों के रूप मेें परिभाषित किया जा सकता ह,ै जो अलग-
अलग तरंगोों का निर्माण करती हैैं।

2.	 मैक्सिमा और मिनिमा के बीच का अंतर बहुत अच्छा ह।ै
3.	 व्यतिकरण मेें फ्रिजोों की चौड़़ाई बराबर होती ह।ै
4.	यदि स्रोतोों की संख्या दो स्रोतोों जितनी कम ह ैतो स्रोतोों को 
व्यतिकरण स्रोत कहा जाता ह|ै

	 विवर््तन
1.	 दूसरी ओर, विवर््तन को द्वितीयक तरंगेें कहा जा सकता ह ैजो 
एक ही तरंग के व िभिन्न भागोों से निकलती हैैं।

2.	 मैक्सिमा और मिनिमा के बीच का अंतर खराब ह।ै
3.	 विवर््तन मेें फ्रिजोों की चौड़़ाई समान नहीीं होती ह।ै
4.	यदि स्रोतोों की संख्या दो से अधिक ह ैतो स्रोतोों को विवर््तन 
स्रोत कहा जाता ह।ै

                                                         
8) 	 The ratio of maximum and minimum intensities in an 

interference pattern is 36:1. What is the ratio of the 
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amplitudes of the two interfering waves?
 	 एक व्यतिकरण पैटर््न मेें अधिकतम और न्यूनतम तीव्रता 

का अनुपात 36:1 ह।ै दो व्यतिकारी तरंगोों के आयामोों का 
अनुपात क्या ह?ै

Ans-
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9) 	 What is Brewster's law?
	 ब्रूस्टर का नियम क्या ह ै?
 Ans- 	 Brewster’s Law
	 If the angle of incidence of which the reflected light is 

completely plane polarized is called polarizing angle or 
Brewster’s angle.

	
 	 When an unpolarized light incident at a polarizing 

angle, ip  on an interface separating air from a medium 
of refractive index, then the reflected light is fully 
polarized if

  	 μ = tan ip
	 According to Snell’s law
	 μ = sin i/sin r
	 Basically reflected rays should be perpendicular to 

refracted rays. In that case only i = ip & r = 90-ip.
  	 i = ip
    	 r = 90 – ip
    	 μ = sin ip/sin(90-ip)
    	 μ = tan ip 

उत्तर -	 ब्रूस्टर का नियम
	 यदि वह आपतन कोण जिसका परावर््ततित प्रकाश पूरी तरह 

से समतल ध्रुवित ह,ै ध्रुवीकरण कोण या ब्रूस्टर का कोण 
कहलाता ह।ै

	
 	 जब एक ध्रुवीकृत प्रकाश अपवर््तक सूचकाांक के माध्यम से 

हवा को अलग करने वाले एक इंटरफ़़े स पर एक ध्रुवीकरण 
कोण ip पर  आपतित करता ह,ै तो परावर््ततित प्रकाश पूरी 
तरह से ध्रुवीकृत होता ह ैयदि

	 μ = tanip
	 स्नेल के निय म के अनुसार
	 μ = sin i/sin r
	 मूल रूप से परावर््ततित किरण अपवर््ततित किरण के लंबवत 

होनी चाहिए। उस स््थथिति मेें केव ल i = ip & r = 90-ip.
 	 i = ip
	 r = 90 - ip
	 μ = sin ip/sin(90-ip)
	 μ = tanip 
10) 	 Two polaroids are kept with their transmission axes 

inclined at 30º. Unpolarised light of intensity I falls 
on the first polaroid. Find out the intensity of light 
emerging from the second polaroid.

	 दो पोलेरॉइड््स को उनके संचरण अक्षषों के साथ 30º पर झुका 
हुआ रखा गया ह।ै I तीव्रता का अध्रुवित प्रकाश सर््वप्रथम 
पोलेरॉइड पर पड़ता ह।ै दूसरे पोलेरॉइड से निकलने वाले 
प्रकाश की तीव्रता ज्ञात कीजिए।

Ans -	 As the intensity of the unpolarised light falling on 
the first polaroid is I, the intensity of polarized light 
emerging will be, I

0
 = ( I/2 ).

	 Let I' be the intensity of light emerging from the 
second polaroid.

	 Malus’ law, I' = I
0
 cos² 

	 Substituting,
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उत्तर -	 चंूकि पहले पोलेरॉइड पर पड़ने वाले अध्रुवित प्रकाश की 

तीव्रता I ह,ै इसलिए निकलने वाले ध्रुवीकृत प्रकाश की 
तीव्रता I

0
 = (I/2) होगी।

	 दूसरे पोलेरॉइड से निकलने वाले प्रकाश की तीव्रता I' होने देें।
	 मैलस का नियम, I' = I

0
 cos² 

	 प्रतिस््थथापन,

	
 
11) 	 Two polaroids are kept crossed (transmission axes at 

90º) to each other.
(i) 	 What will be the intensity of the light coming out 

from the second polaroid when an unpolarised 
light of intensity I falls on the first polaroid?

(ii) 	 What will be the intensity of light coming out from 
the second polaroid if a third polaroid is kept at 
45º inclination to both of them.

	 दो पोलेरॉइड््स को एक दूसरे से क्रॉस (90º पर ट्ररांसमिशन 
अक्ष) रखा जाता ह।ै
(i) 	 दूसरे पोलेरॉइड से निकलने वाले प्रकाश की तीव्रता क्या 

होगी ज ब I तीव्रता का एक अध्रुवीकृत प्रकाश पहले 
पोलेरॉइड पर पड़ता ह?ै

(ii) 	 दूसरे पोलेरॉइड से निकलने वाले प्रकाश की तीव्रता क्या 
होगी यदि एक तीसरा पोलेरॉइड इन दोनोों से 45° झुकाव 
पर रखा जाए।

Ans- 	 (i) 	 As the intensity of the unpolarised light falling 
on the first polaroid is I, the intensity of polarized 
light emerging from it will be I

0
 = (I/2).

	 Let I' be the intensity of light emerging from the 
second polaroid.

	 Malus’ law, I' = I
0
 cos² 

	 Here  is 90º as the transmission axes are 

perpendicular to each other.
	 Substituting,
	 I

0
 = ( I/2 ) cos2 (90º)= 0

	 [  cos(90º )= 0]
	 No light comes out from the second polaroid.
	 (ii) 	 Let the first polaroid be P1 and the second 

polaroid be P2. They are oriented at 90º. The third 
polaroid P3 is introduced between them at 45º. 
Let I' be the intensity of light emerging from P3.

	 Angle between P1 and P3 is 45º. The intensity of light 
coming out from P3 is,

	 I' = I
0
 cos² 

	 Substituting,

	 ( ) ;cosI I I I I I
2 45 2 2

1
4 4

2
2

= = = =l c lb b dl l n

	 Angle between P3 and P2 is 45º. Let I"  is the intensity 
of light coming out from P2 I" = I' cos² 

	 Here, the intensity of polarized light existing between 
P3 and P2 is 1/4.

	 Substituting,

 	
उत्तर - 	 (i)	 चँूकि पहले पोलेरॉइड पर पड़ने वाले अध्रुवित प्रकाश 

की तीव्रता I ह,ै इससे निकलने वाले ध्रुवित प्रकाश की 
तीव्रता I

0
 = (I/2) होगी।

	 मान लीजिए I' दूसरे पोलेरॉइड से निकलने वाले प्रकाश की 
तीव्रता ह।ै

	 मालुस का नियम, I' = I
0
 cos² 

	 यहााँ  =90º ह ैक्ययोंकि संचरण अक्ष एक दूसरे के लंबवत हैैं।
	 प्रतिस््थथापन,
	 I

0
 = ( I/2 ) cos2 (90º)= 0

	 [  cos(90º )= 0]
	 दूसरे पोलेरॉइड से कोई प्रकाश नहीीं निकलता ह।ै
	 (ii) 	 माना पहला पोलेरॉइड P1 ह ैऔर दूसरा पोलेरॉइड P2 

ह।ै वे 90º पर उन्मुख हैैं। तीसरा पोलेरॉइड P3 उनके 
बीच 45º पर पेश किया जाता ह।ै मान लीजिए I P3 से 
निकलने वाले प्रकाश की तीव्रता ह।ै

	 P1 और P3 के बीच का कोण 45º ह।ै P3 से निकलने वाले 
प्रकाश की तीव्रता I' = I

0
 cos²  है

	 प्रतिस््थथापन,

	 ( ) ;cosI I I I I I
2 45 2 2

1
4 4

2
2

= = = =l c lb b dl l n

	 P3 और P2 के बीच का कोण 45º ह।ै मान लीजिए I" P2 से 
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निकलने वाले प्रकाश की तीव्रता 
	 I" = I' cos²  है
	 यहााँ, P3 और P2 के बीच विद्यमान ध्रुवीकृत प्रकाश की तीव्रता 

1/4 ह।ै
	 प्रतिस््थथापन

	
12) 	 A monochromatic light of wavelength 5000 Å passes 

through a single slit producing diffraction pattern 
for the central maximum as shown in the figure. 
Determine the width of the slit.

	 5000 Å तरंगदैर्घघ्य का एक मोनोक्रोमैटिक प्रकाश एकल 
स्लिट से गुजरता ह ैजो केें द्रीय अधिकतम के लिए विवर््तन 
पैटर््न बनाता ह ैजैसा कि चित्र मेें दिखाया गया ह।ै स्लिट की 
चौड़़ाई निर्धारित करेें।

	
Ans-	  = 5000 Å = 5000×10-10m; sin 30º = 0.5; n = 1; a =?
	 Equation for diffraction minimum is, a sin  = n
	 The central maximum is spread up to the first minimum. 

Hence, n = 1
	 Rewriting, a = / Sin 
	 Substituting, a = 5000×10-10 / 0.5
	 a = 1×10-6 m = 0.001×10-3 m = 0.001mm

	  = 5000 Å = 5000×10-10 m ; Sin 30º = 0.5 ; n  = 1 ; a  =?
उत्तर -	 न्यूनतम विवर््तन के लि ए समीकरण ह,ै a sin  = n
	 केें द्रीय अधिकतम पहले न्यूनतम तक फैला हुआ ह।ै इसलिए, n = 1
	 पुनर्लेखन, a =  / sin 
	 प्रतिस््थथापित करना, a = 5000×10-10/ 0.5
	 a = 1×10-6 m  = 0.001×10-3 m = 0.001 mm
13) 	 हाइगेन्स की तरंग सिद््धधान्त लिखिए।तथा इससे परावर््तन 

और अपवर््तन के नियमोों को व्युत्तत्पन्न कीजिये।
	 Write the wave theory of Huygens. And derive the 

laws of reflection and refraction from it.
Ans-	 Huygens’ Principle states that every point on a 

wavefront is the source of wavelets that spread out in 
the forward direction at the same speed as the wave 
itself

	
	 Huygens’ Principle can be applied to prove the laws of 

reflection. The above figure demonstrates the incident 
ray being reflected by a reflecting surface. 

	 aA represents the wavefront incident in a reflecting 
mirror XY with an angle of incidence i. Every point on aA 
acts as a source of a secondary wavelet. As mentioned 
by Huygens’ principle, the rays will take equal time to 
cover the distance between A to D and C to B. Therefore, 
the angle of incidence will be equal to the angle of 
reflection.

	 This proves the first law of reflection. The direction 
of propagation of the secondary wavelets is also the 
direction of propagation of their primary wave sources.

	 It is also observed that the incident ray and the reflected 
ray lie on opposite sides of the normal. The normal is 
perpendicular to the reflecting surface and originates 
at the point of incidence. The normal, incident ray, and 
reflected ray lie on the same plane, and hence, the 
second law of reflection is proven.

	 Therefore, both the laws of reflection can be analyzed 
through Huygens’ Principle.

	
	 Huygens’ Principle can help us prove the laws of 

refraction with the help of the above diagram. 
	 Considering a wavefront BC incident on the surface, 

we evaluate that the incident ray has a velocity of V1 
and the refracted ray AD has a velocity of V2. 

	 Since Huygens’ Principle states that despite 
differences in density, the time taken by the waves to 
travel will be the same, let’s assume the time taken is t.

	 Therefore, distance BC = V1t  and AD = V2t.
	 Considering the triangles ABC and ADC, we get:
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	 यंग के डबल स्लिट प्रयोग मेें 
	 D > > d: चंूकि D > > d, दो प्रकाश किरणोों को समानाांतर माना 

जाता ह।ै
	 d/  >> 1: अक्सर, d एक मिलीमीटर का अंश होता ह,ै और दृश््य 

प्रकाश के लि ए माइक्रोमीटर का एक अंश होता ह।ै
	 इन शर्ततों के तहत,  छोटा ह।ै इस प्रकार, हम सन्निकटन sin  = 

tan  ≈  = /d का उपयोग कर सकते हैैं।
	  पथाांतर, Δz = /d
	 यह स्क्रीन पर कि सी बि दु पर मि लने वाली दो तरंगोों के बीच 

का पथाांतर ह।ै यग के डबल-स्लिट प्रयोग मेें इस पथ अंतर के 
कारण, स्क्रीन पर कुछ बि दु चमकीले  होते है ैं, और कुछ बि दु 
गहरे रंग के होते हैैं।

	 अब हम इन प्रकाश, अदीप्त फ्रिजोों और फ््रििंज  चौड़़ाई की स््थथिति 
पर चर्चा करेेंगे।

	 यंग के  डबल स् लिट प्रयोग मे ें फ््रििंजो ों की स््थथि ति  चमकीले 
किनारोों की स््थथि ति P पर अधिकतम तीव्रता या दीप्त फ्रि न््ज 
बनने के लि ए पथ अंतर, Δz = n  (n = 0, ±1, ±2,…)

	 यानी, xd/D = n
	 या
	 x = n D /d 
	 केें द्र से nवेें दीप्त फ्रिन््ज की दूरी है
	 xn = n D /d 
	 इसी प्रकार केें द्र से (n-1)वेें दीप्त फ्रिन््ज की दूरी है
	 x(n  -1) = (n -1)  D / d 
	 फ््रििंज  चौड़़ाई,  = xn – x(n-1) = n D/d – (n -1) D/d = D/d
	 (n  = 0, ±1, ±2,...)
	 डार््क  फ््रििंज  की स््थथिति
	 P पर बनने वाली न्यूनतम तीव्रता या अदीप्त फ््रििंज  के लि ए,
	 पथ अंतर, Δz = (2n + 1) ( /2) (n = 0, ±1, ±2,...)
	 यानी, x  = (2n +1) D/2d
	 केें द्र से nवेें अदीप्त फ्रिज की दूरी है
	 xn = (2n+1) D/2d
	 इसी प्रकार केें द्र से (n-1)वेें दीप्त फ्रिन््ज की दूरी है
	 X(n-1)= (2(n-1) +1) D/2d
	 फ््रििंज   चौड़़ाई,  = xn – x(n-1) = (2n + 1) D/2d  

– (2(n -1) + 1) D/2d = D/d
	 (n  = 0, ±1, ±2,...)
	 फ््रििंज  चौड़़ाई
	 दो आसन्न दीप्त (अथवा अदीप्त) फ्रिजो ों के बीच की दूरी को 

फ््रििंज  चौड़़ाई कहते हैैं।
	  = D /d 
15) 	 What is meant by diffraction of light? Explain 

diffraction by a narrow slit. Explain the formation of 
fringe-patterns on the screen and draw a graph to 
show the variation of fringe intensity with angle  .

	 प्रकाश के विवर््तण से क्या तात्पर््य ह ै? एक संकीर््ण रेखा -छिद्र 
द्वारा विवर््तन की व्याख्या कीजिये , पर्दे पर फ्रिन््ज - प्रारूप का 
बनना समझाइये तथा कोण  के साथ फ््रििं ज की तीव्रता मेें 
परिवर््तन को प्रदर््शशित करने के लिये ग्राफ खीींचिये | 

Ans-	 Diffraction of light is defined as the bending of light 
around corners as it spreads and illuminates areas 
where shadows are expected.

	 In a single-slit diffraction experiment, we can observe 
the phenomenon of bending of light or diffraction which 

causes light from a coherent source to interfere with 
itself and produce a characteristic pattern on the screen 
called the diffraction pattern . Diffraction is apparent 
when sources are so small that they are relatively the 
size of a wavelength of light. We can see this effect in 
the picture below. For large slits, the dispersion is small 
and generally not noticeable.

	
	 Single Slit Diffraction Formula
	 We shall assume the slit width a << D. D is the 

separation between slit and source.

	
	 We will identify the angular position of any point on the 

screen by  measured from the slit center which divides 
the slit by a/2 length. To describe the pattern, we'll first 
look at the position of the dark fringe. Furthermore, we 
divide the slit into regions of equal width a/2.

	 The path difference represented by the top two rays 
shown is:

	 We can consider any number of ray pairs starting at a 
distance a/2 from each other like the two rays in the 
diagram below.

	 For a dark fringe, path difference must cause destructive 
interference; The path difference should be out of phase 
by /2. (  is the wavelength)

	 for the first edge,
	 For a ray emerging from any point in the slit, there 

exists another ray at a distance of a/2 that can cause 
destructive interference.

	 Thus, destructive interference occurs at  = sin−1 /a 
because any ray emanating from a point has a pattern 
that causes destructive interference. Hence a dark 
fringe is obtained.

	 For the next fringe, we can divide the slit into 4 equal 
parts of a/4 and apply the same logic. Thus, for the 
second minimum:

	 Similarly, for the nth fringe, we can divide the slit into 2n 
parts and use this condition as:

	 n  = a Sin 
	 central maximum
	 The minima lies between the width of the minimum 
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and the central maximum, the distance between the 
first order minima from the center of the screen on 
either side of the center.

	 The position of the minimum given by y (measured 
from the center of the screen) is:

	 tan ≈ ≈y/d
	 for small ,
	 sin ≈
	   = a sin ≈a
	   = y/D = /a
	  y = D /a
	 The width of the central maximum is only twice this 

value.
	  width of central maximum = 2 D/a
	  Angular width of central maximum = 2  = 2 /a
	 The diffraction pattern and intensity graph is shown 

below.

	
	 The path difference represented by the top two rays 

shown is:
	 sinL a

23 i=

 	 We can consider any number of ray pairs starting at a 
distance a/2 from each other like the two rays in the 
diagram below.

	 For a dark fringe, path difference must cause destructive 
interference; The path difference should be out of phase 
by /2. (  is the wavelength) for the first fringe,

	 sin
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 	 For a ray emerging from any point in the slit, there 
exists another ray at a distance of a/2 that can cause 
destructive interference.

	 Thus, destructive interference occurs at  = sin−1 /a 
because any ray emanating from a point has a pattern 
that causes destructive interference. Hence a dark 
fringe is obtained.

	 For the next fringe, we can divide the slit into 4 equal 
parts of a/4 and apply the same logic. Thus, for the 
second minimum:

	 sin

sin

a

a

2 4

2

m
i

m i

=

=

 	 Similarly, for the nth fringe, we can divide the slit into 2n 

parts and use this condition as:
	 n  = a Sin 
	 central maximum
	 The minima lie between the width of the minimum and 

the central maximum, the distance between the first 
order minima from the center of the screen on either 
side of the center.

	 The position of the minimum given by y (measured 
from the center of the screen) is:

	 tan ≈ ≈y/d
	 for small ,
	 sin ≈
	   = a sin ≈a
	   = y/D = /a
	  y = D /a
	 The width of the central maximum is only twice this 	

value.
	  width of central maximum = 2 D/a
	  Angular width of central maximum = 2  = 2 /a
	 The diffraction pattern and intensity graph is shown 

below.

	
उत्तर -	 प्रकाश के व िवर््तन को कोनोों के चारोों ओर प्रकाश के मोड़ के 

रूप मेें परिभाषित किया जाता ह ैजैसे कि य ह फैलता ह ैऔर 
उन क्षेत्ररों को प्रकाशित करता ह ैजहाां छाया की उम्मीद होती 
ह।ैएकल-स्लिट विवर््तन प्रयोग मेें, हम प्रकाश या व िवर््तन की 
झुकने की घटना का निरीक्षण कर सकते हैैं जो एक सुसंगत 
स्रोत से प्रकाश को स्वयं मेें हस्तक्षेप करने का कारण बनता ह ै
और स्क्रीन पर एक विशिष्ट पैटर््न उत्पन्न करता ह ैजिसे विवर््तन 
पैटर््न कहा जाता ह।ै व िवर््तन तब स्पष्ट होता ह ैजब स्रोत इतने 
छोटे होते हैैं कि वे अपेक्षाकृत प्रकाश की तरंग दैर्धध्य के आकार 
के होते हैैं। हम इस प्रभाव को नीचे चित्र मे ें देख सकते हैैं। बड़़े 
स्लिट््स के लि ए, फैलाव छोटा होता ह ैऔर आम तौर पर ध्यान 
देने योग््य नहीीं होता ह।ै

	
	 सिंगल स्लिट डिफ्रै क्शन फॉर््ममूला
	 हम मान लेेंगे कि स्लिट की चौड़़ाई a << D ह।ै D स्लिट और 
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स्रोत के बीच की दूरी ह।ै

	
 	 हम स्क्रीन पर किसी भी बिदु की कोणीय स््थथिति की पहचान 

स्लिट केें द्र से मापे गए  द्वारा करेेंगे जो स्लिट को a/2 लंबाई 
से विभाजित करता ह।ै पैटर््न का वर््णन करने के लि ए, हम पहले 
डार््क   फ््रििंज  की स््थथि ति  देखेेंगे। इसके  अलावा, हम झि री को 
समान चौड़़ाई वाले क्षेत्ररों मेें विभाजित करते हैैं a/2

	
	 दिखाई गई शीर््ष दो किरणोों द्वारा प्रदर््शशित पथाांतर ह:ै

	 sinL a
23 i=

	 हम किसी भी संख्या मेें किरण यग््मोों पर विचार कर सकते हैैं जो 
एक दूसरे से a/2 की दूरी से शुरू होती हैैं जैसे आरेख मेें नीचे की 
दो किरणेें।

	 एक अदीप्त फ््रििंज  के लि  ए, पथान्तर विनाशी व्यतिकरण का 
कारण होना चाहिए; पथ अंतर /2 द्वारा चरण से बाहर होना 
चाहिए। (  तरंग दैर्धध्य ह)ै

	 पहले फ््रििंज  के लि ए,
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 	 रेखाछिद्र मेें किसी भी बिदु से निकलने वाली किरण के लि ए, 
a/2 की दूरी पर एक और किरण मौजूद होती ह ैजो विनाशकारी 
हस्तक्षेप का कारण बन सकती ह।ै

	 इस प्रकार,  = sin−1 /a पर विनाशी व्यतिकरण होता ह ैक्ययोंकि 
एक बिदु से निकलने वाली किसी भी किरण का एक प्रतिरूप 
होता ह ैजो विनाशी  व्यतिकरण का कारण बनता ह।ै अतः एक 
अदीप्त फ्रिज प्राप्त होती ह।ै

	 अगले फ््रििंज  के लि ए, हम झिरी को a/4 के 4 बराबर भागोों मेें 
विभाजित कर सकते हैैं और समान तर््क  लागू कर सकते हैैं। इस 
प्रकार, दूसरी न्यूनतम के लि ए:
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 	 इसी प्रकार, nवेें फ्रिज  के लि  ए, हम झि री को 2n भागोों मे ें 
विभाजित कर सकते हैैं और इस स््थथिति का उपयोग इस प्रकार 
कर सकते हैैं:

	 n  = a Sin 
	 केें द्रीय अधिकतम
	 मिनिमा न्यूनतम और केें द्रीय अधिकतम की चौड़़ाई के  बीच 

स््थथित ह,ै केें द्र के दोनोों किनारोों पर स्क्रीन के के ें द्र से पहली ऑर््डर 
मिनीमा के बीच की दूरी ह।ै

	 y द्वारा दी गई निम्निष्ठ की स््थथिति (स्क्रीन के के ें द्र से मापी गई) ह:ै
	 tan ≈ ≈y/d 
	 छोटे   के लि ए,
	 sin ≈
	   = a sin ≈a
	   = y/D = /a
	  y = D /a
	 केें द्रीय अधिकतम की चौड़़ाई इस मान से केव ल दोगुनी है
	  केें द्रीय अधिकतम की चौड़़ाई = 2 D/a
	  केें द्रीय अधिकतम की कोणीय चौड़़ाई = 2  = 2 /a
	 विवर््तन पैटर््न और तीव्रता ग्राफ नीचे दिखाया गया ह।ै

	
16) 	 What do you understand by polarization of light? 

How does this prove the transverse nature of light 
waves? Explain.

	 प्रकाश के ध्रुवण से क्या समझते हैैं ? इससे प्रकाश- तरंगो की 
अनुप्रस््थ प्रकृति कैसे प्रमाणित होती ह ै? समझाइये |

Ans- 	 light waves that vibrate in more than one plane are 
referred to as unpolarized light such as the light emitted 
by the sun, a lamp, or candle flame is unpolarized light. 
Such light waves consist of an electromagnetic wave 
that vibrates in a variety of directions. However, it is 
possible to transform unpolarized light into polarized 
light.

	
	 Polarized light waves are the waves in which the 

vibrations occur in a single plane. The process of 
transforming unpolarized light into polarized light is 
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known as polarization.
	 The phenomenon of restricting the vibration of 

light (electric field) in a particular direction (plane), 
perpendicular to the direction of wave motion is called 
polarization of light.

	 The polarization of transverse waves.
	 Let a rope AB be passed through two parallel vertical 

slits S1 and S2 placed close to each other. The rope is fixed 
at the end B. If the free end A of the rope is moved up 
and down perpendicular to its length, transverse waves 
are generated with vibrations parallel to the slit. These 
waves pass through both S1 and S2 without any change 
in their amplitude. But if S2 is made horizontal, the two 
slits are perpendicular to each other. Now, no vibrations 
will pass through S2 and the amplitude of vibrations will 
become zero. i.e the portion S2B is without wave motion 
as shown in the figure.

	
	 Fig: Polarization of transverse waves

	 On the other hand, if longitudinal waves are generated 
in the rope by moving the rope along forward and 
backward, the vibrations will pass through S1 and S2 
irrespective of their positions.

	 This implies that the orientation of the slits has no 
effect on the propagation of the longitudinal waves, but 
the propagation of the transverse waves is affected if 
the slits are not parallel to each other.

	 A similar phenomenon has been observed in light when 
light passes through a tourmaline crystal.

	
	 Fig: Polarization of transverse waves

	 Light from the source is allowed to fall on a tourmaline 
crystal which is cut parallel to its optic axis (Figure: a).

	 The emergent light will be slightly coloured due to 
the natural color of the crystal. When the crystal A 
is rotated, there is no change in the intensity of the 
emergent light. Place another crystal B parallel to A in 

the path of the light. When both the crystals are rotated 
together so that their axes are parallel, the intensity of 
light coming out of B does not change. When the crystal 
B alone is rotated, the intensity of the emergent light 
from B gradually decreases. When the axis of B is at 
right angles to the axis of A, no light emerges from B 
(Figure: b).

	 If the crystal B is further rotated, the intensity of the light 
coming out of B gradually increases and is maximum 
again when their axis is parallel.

	 Comparing these observations with the mechanical 
analogue discussed earlier, it is concluded that the light 
waves are transverse in nature.

उत्तर -	 एक प्रकाश तरंग जो एक से अधिक तलोों मेें कंपन करती ह,ै उसे 
अध्रुवीकृत प्रकाश कहा जाता ह ैजैसे कि  सूर््य द्वारा उत्सर््जजित 
प्रकाश, एक दीपक, या मोमबत्ती की लौ अध्रुवीकृत प्रकाश 
ह।ै ऐसी प्रकाश तरंगोों मेें एक व िद्युत चुम्बकीय तरंग होती ह ै
जो व िभिन्न दि शाओं मेें कंपन करती ह।ै हालाांकि, अध्रुवीकृत 
प्रकाश को ध्रुवीकृत प्रकाश मेें बदलना संभव ह।ै

	
	 ध्रुवीकृत प्रकाश तरंगेें वे तरंगेें होती हैैं जिनमेें कंपन एक ही तल 

मेें होता ह।ै अधुवित प्रकाश को ध्रुवीकृत प्रकाश मेें बदलने की 
प्रक्रिया को ध्रुवीकरण के रूप मेें जाना जाता ह।ै

	 प्रकाश के  कंपन (विद्युत क्षेत्र) को एक व िशेष दि शा (तल) मेें 
तरंग गति की दि शा के लम्बवत ्सीमित करने की घटना को 
प्रकाश का ध्रुवीकरण कहा जाता ह।ै

	 अनुप्रस््थ तरंगोों का ध्रुवीकरण।
	 एक रस्सी AB को दो समाांतर ऊर्ध्वाधर स्लिट््स S1 और S2 के 

माध्यम से एक दूसरे के करीब रखा जाता ह।ै रस्सी अंत B पर 
तय की गई ह।ै यदि रस्सी के  मुक्त सिरे A को उसकी लंबाई 
के  लंबवत ऊपर और नीचे  ले ज ाया ज ाता ह,ै तो स् लिट के 
समानाांतर कंपन के साथ अनुप्रस््थ तरंगेें उत्पन्न होती हैैं। ये तरंगेें 
अपने आयाम मेें बि ना कि सी बदलाव के  S1 और S2 दोनोों से 
होकर गुजरती हैैं। लेकिन अगर S2 को क्षैतिज बनाया जाता ह,ै 
तो दो स्लिट एक दूसरे के लंबवत होते हैैं। अब, कोई भी कंपन 
S2 से नहीीं गुजरेगा और कंपन का आयाम शून्य हो जाएगा। i.e 
S2B बिना तरंग गति के ह ैजैसा कि चित्र मेें दिखाया गया ह।ै
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	 चित्र: अनुप्रस््थ तरंगोों का ध्रुवीकरण

	 दूसरी ओर, यदि रस्सी को आगे और पीछे ले जाकर रस्सी मेें 
अनुदैर्धध्य तरंगेें उत्पन्न की जाती हैैं, तो कंपन उनकी स््थथि ति के 
बावजूद S1 और S2 से होकर गुजरेगा।

	 इसका तात्पर््य यह ह ैकि स्लिट््स के उन्मुखीकरण का अनुदैर्धध्य 
तरंगोों के प्रसार पर कोई प्रभाव नहीीं पड़ता ह,ै लेकिन स्लिट््स 
एक दूसरे के समानाांतर नहीीं होने पर अनुप्रस््थ तरंगोों का प्रसार 
प्रभावित होता ह।ै

	 इसी तरह की घटना प्रकाश मेें देखी गई ह ैजब प्रकाश टूमलाइन 
क्रिस्टल से होकर गुजरता ह।ै

	
 	 चित्र: अनुप्रस््थ तरंगोों का ध्रुवीकरण
	 स्रोत से  प्रकाश को एक टूमलाइन क्रि स्टल पर गि रने दिय ा 

जाता ह ैजो इसके ऑप्टिक अक्ष के समानाांतर कट जाता ह ै(चित्र: 
a)।

	 क्रिस्टल के प्रा कृतिक रंग के कारण उभरती हुई रोशनी थोड़़ी 
रंगीन होगी। ज ब क्रि स्टल A को घुमाया ज ाता ह,ै तो निर््ग त 
प्रकाश की तीव्रता मेें कोई परिवर््तन नहीीं होता ह।ै प्रकाश के 
पथ मेें A के समानाांतर एक और क्रि स्टल B रखेें। जब दोनोों 
क्रिस्टलोों को एक साथ इस प्रकार घुमाया जाता ह ैकि उनके 
अक्ष समानान्तर होों, तो B से निकलने वाले प्रकाश की तीव्रता 
मेें कोई परिवर््तन नहीीं होता। जब अकेले क्रिस्टल B को घुमाया 
जाता ह,ै तो B से निर््ग त प्रकाश की तीव्रता धीरे-धीरे कम हो 
जाती ह।ै जब B की धुरी A की धुरी के समकोण पर होती ह,ै तो 
B से कोई प्रकाश नहीीं निकलता ह ै(चित्र: b)।

	 यदि क्रिस्टल B को और घुमाया जाता ह,ै तो B से निकलने वाले 
प्रकाश की तीव्रता धीरे-धीरे बढ़ती ह ैऔर फिर से अधिकतम 
होती ह ैजब उनकी धुरी समानाांतर होती ह।ै

	  इन प्रेक्षणोों की तुलना पहले चर््चचित याांत्रिक अनुरूप से करने पर 
यह निष्कर््ष निकलता ह ैकि प्रकाश तरंगेें अनुप्रस््थ प्रकृति की 
होती हैैं।
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